
ΠΡΟΓΡΑΜΜΑ ΑΣΚ 

METΑΒΛΗΤΕΣ 
       ΑΚΕΡΑΙΕΣ: i,j  

 ΠΡΑΓΜΑΤΙΚΕΣ: Β[100,10] 

ΑΡΧΗ 

ΓΙΑ i ΑΠΟ 1 ΜΕΧΡΙ 100   
 ΓΙΑ j ΑΠΟ 1 ΜΕΧΡΙ 10   

  ΔΙΑΒΑΣΕ Β[i, j] 

 ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

 

ΓΙΑ i ΑΠΟ 1 ΜΕΧΡΙ 100   

 ΚΑΛΕΣΕ ΤΑΞΙΝΟΜΗΣΗ(Β,i) 

ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

 

ΓΙΑ i ΑΠΟ 1 ΜΕΧΡΙ 100   
 ΓΙΑ j ΑΠΟ 1 ΜΕΧΡΙ 10   

  ΓΡΑΨΕ Β[i, j] 

 ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

 

ΤΕΛΟΣ_ΠΡΟΓΡΑΜΜΑΤΟΣ 

ΔΙΑΔΙΚΑΣΙΑ ΤΑΞΙΝΟΜΗΣΗ(Α,Χ) 

METΑΒΛΗΤΕΣ 
       ΑΚΕΡΑΙΕΣ: i,j ,Χ 

  ΠΡΑΓΜΑΤΙΚΕΣ: Α[100,10],temp 

ΑΡΧΗ 

  ΓΙΑ i ΑΠΟ 2 ΜΕΧΡΙ 10 
        ΓΙΑ j ΑΠΟ 10 ΜΕΧΡΙ i ΜΕ_ΒΗΜΑ –1 

          ΑΝ Α[Χ,j-1] > A[Χ,j] TOTE 

              temp ← A[Χ,j-1] 
              A[Χ,j-1] ← A[Χ,j] 

              A[Χ,j] ← temp 

         ΤΕΛΟΣ_ΑΝ 

        ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 
 ΤΕΛΟΣ_ΕΠΑΝΑΛΗΨΗΣ 

ΤΕΛΟΣ_ΔΙΑΔΙΚΑΣΙΑΣ 
 

 


